TH2EE mARHRE

&¥3—1

mA (BGZ:F)
K 17 B FEBE|RAEE|E 5 & B A
%fﬁ\g%&w 1 88% 1 &iE& 328,000 256,000 A 72,000\ &EE
2 EE#HBE |1 BEMBIE (1 BEHEBE 0 0 0
3 MBue 1 #&Ee 1 #gHe 3,000 3,166 166
4 FIRA 1AEFF (1 BEEFF 1,000 0 A 1,000
mASE 332,000 259,166 A 72,834
[ Al (BGZ: M)
5 15 =] FHEBEB|RAEE|E 5 & B A
128 159,000 69,518 89,482| X B M. k&
1 #BBE 1 RFEEE
2 EBE 5,000 34,152 A 29,152 %E}fﬁtﬂ% et
2EXE 1E2XE 1 EXE 167,000 0 167,000
3 P& 1 FiRE 1 FiHE 1,000 0 1,000
mH & & 332,000 103,670 228,330
"BmAREEE 259,166 M
W HREEE 103,670 FM

-E5IE%S

155,496 A CREFEAHEH)




